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Cluster: 0169 ptr; resid: 0.42; r/c: 40/77

x.range

upstream meme PSSM #1; e=430

1 3 5 7 9 111 3 5 7 9

x.range
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upstream meme PSSM #2; e=6.3e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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1193414715 36034

51120

5217

11336

12375

12411
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15441

26635

30807

3140732559

33907

34382

34592

35949

42845

43223

43374

44400

44401

44450

44796

44831

44892

45565
46064

46172

47005

47824

48080

48510

50387

54134

7335

string −500 −400 −300 −200 −100 −1
14974NA
15441NA
45565−0.04
31407−0.11
44401−0.22
44899−0.23
44831−0.24
32559−0.31
11934−0.62
42845−1.23
46064−1.24
26635−1.27
47824−1.27
44450−1.33
48510−1.45
36034−1.64
47005−1.73
51120−1.74
43374−1.80
44796−1.91
14715−1.94

7335−2.01
48080−2.02
11197−2.03
12375−2.10
54134−2.17
50387−2.21
44892−2.27
44400−2.61
11336−2.80
43223−3.23
34382−3.24
33907−3.51

5217−3.51
34592−3.55
30807−3.85
35949−4.06
12411−4.46
46172−4.71

8310−7.66
log10(P) upstream meme1 2 log10(P.clust)=−2.17; 40 seqs; 39 uniq

c(0.5, 2.5)
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